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Instructions for Candidates Attempt any four questions. All
questions carry equal marks.

Q1. Mr. Sahir has approached you for professional advice on investment. He
has Rs. 50 Lakhs which he wishes to investment in stock market in the name of
his wife on the birthday falling due the next week. He is by nature risk averse,
he also tells you that he had wondered investing in NGC Company itself be a
good idea as it is quite profitable. While you agree with him on choice of NGC
Company, you suggest that by way of risk reduction, it would be prudent to
invest in RPL Company, an equally reputed oil marketing company. Mr. Sahir
desires to know from you specific answers to the following:

a) What would be the likely return and risk of the two stocks?

b) Out of the above two alternatives which would be least risky? Which
would you recommend and why?

¢) Also calculate coefficient of correlation between two stocks.

You have the following forecast of the future returns on the two stocks:

Condition Probability RPL Co. (%) NGC Co. (%)
Recession 0.3 10 6

Average 0.4 12 12

Good 0.2 20 20

Boom 0.1 22 24
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Q2. Explain credit rating. Do you think that high credit rating is a
recommendation to buy the bond?

Mr. Mahesh is considering purchase of a bond which is currently quoted at Rs.
910. The bond has a face value of Rs. 1000. It carries coupon rate of 11% and
has 5 years to maturity. Currently, the interest income is subject to 30% rate of
tax and capital gain is subject to 10% tax rate. Advice, Should Mr. Mahesh buy
this bond if his required rate of return is 10%. Also calculate YTM at current
market price.
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Q.3 Explain how Candlestick Chart is used by technical analysts to predict
future behavior of prices.

The dividend on equity shares of ABC Co. is expected to grow at the rate of
12% for first 5 years and 10% thereafter forever. Investors have just received an
annual dividend of Rs.7 per share. The appropriate discount rate representing
equity shareholders expectation is 14%. Find out the value of the equity share.
If the current market price of the share is Rs. 220, Should investor buy the
share? Why?
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Q4. Mr. Akshay has Rs. 5 lakhs which he wants to invest in equity shares of
Company A and Company B. The following are the expected return and risk of
shares of company A and company B

Expected Returns Standard Deviation
Company A 15% 10%
Company B 12% 6%

He finds that the correlation coefficient between the returns of Co. A and Co. B
is -1.
Mr. Akshay is considering the following portfolios



(i)  100% in company B

(i)  10% in company A and 90% in company B

(ili)  50% in company A and 50% in company B

(iv) 100% in company A
Advise him which portfolio is good if wants to (i) minimize risk (ii) maximize
return (iii) risk return trade-off.
Explain the role of diversification in portfolio.
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Q5 Explain Feasible, efficient and optimal portfolio.

You are evaluating various investment opportunities currently available and
details of five different well-diversified portfolios are as under:

Portfolios Expected Return (%) Standard Deviation (%)

7.8 10.5

R 18.6 14




S 4.6 5
T 21.7 185
U 16.2 7.5

It is further given that the risk free rate of return is 6% and unlimited borrowing
and lending is possible at this rate. The return and risk of market portfolio is
15% and 10%.Comment on the efficiency of the portfolios. Also calculate the
reward to variability ratio. Draw a rough sketch of CML to represent these

portfolios.
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6. What do you mean by futures? Explain the factors determining price of future
contracts.

The equity shares of P Ltd. are being sold for Rs. 400. A 3-months call option
is available for a premium of Rs. 20 per share and a 3 months put option is
available for Rs. 15 per share. Find out net pay-off of put option holder and call
option holder given that the strike price in both the cases is Rs. 430 and the
share price on exercise day is Rs.390, Rs.420 or Rs. 460. Also find out break-
even point for both call option and put option.
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